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Attempt all questions.
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English version is considered to be Authentic.

Explain the term “Conservation of Energy” and describe the principles of Energy
Management.
Explain Energy Conservation in agriculture and domestic sectors.

Explain Straight line and Sinking Fund method.
Describe the use of Electronic Control in Industrial Drives.

OR
Determine the saving in cost of electrical energy per year and annual saving of energy
and saving in annual running charges by use of a energy efficient electric motor having
following data. Motor operates for 3750 hrs/annum.

Sr.No. | Details of motor Motor A Motor B

1. Load on motor 47.5 KW 47.5 KW

2. Efficiency of motor 82.5% 88%

3. First cost of motor Rs.75,000 Rs.97,000
4. Cost/ kwh (at flat rate) Rs.2.25/kwh | Rs.2.25/kwh
5. Interest and depreciation rate 10% 10%
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What is VFD? Why buy VFD? Explain its operation and applications.
A 3-ph, 50 Hz, 400V motor develops 74.6 KW, the power factor being 0.7 lagging and
efficiency 92%. A bank of capacitors is connected in Delta across the supply terminals
and power factor is raised to 0.9 lagging Each of the capacitance units is built of 4
similar 100v capacitors. Determine the capacitance of each capacitor.

OR
Explain advantages of electronic ballast over magnetic ballast.
A factory requires 3, 00, 000 lumens for proper illumination on its work place. Total
lighting period for year is 3000 hrs. Compare annual cost of energy and find the saving
in energy cost and lamp renewals for the following scheme:
(A) 100 watt incandescent lamps having a working life of 1000 hrs.
Its luminous efficiency is 13.5 lumens/ watt and renewal cost is Rs. 12.5/lamp.
(B) Two 40 watts fluorescent lamps having a life of 3000 hrs. and luminous efficiency
of 36 lumens/watt. Its renewal cost is Rs.74 per lamp pair. This factory gets electric
power supply at two part tariff rate of Rs.250/KW/year +0.25 Rs/ Kwh.

State advantages and application of PAM motor.
Define the terms. 1. Load factor. 2. Load curve 3.Energy balance
4. Energy storage 5.Maximum demand 6. ABCD formula 7.Energy audit
OR
List out the factors for the high T & D Losses.
Explain the improvement in power factor in electric system and also explain different
methods to improve it.
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Q.5 (a) Discuss the methods of controlling maximum demand. 07

(b) Explain the energy audit of 3-phase transformer. 07
OR

Q.5 (a) Compare preliminary energy audit with detailed energy audit. 07
(b) Write short note on Co-generation plant. 07
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